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RSt EXAMNATEN QUESTIONS : TRAC, \DENTITVEy, -+ BANK .

. (@) Prove the identity tan® 6 — sin® § = tan” 0 sin 0.
(b) If4, B and C are the angles of a triangle and tan 4 = 1 and tan B = 2 show, without us-
ing tables or calculators that tan C=3. (J78/P2/12) :

2. Given thattan =2 and that 180° <@< 270° find, w1thout usmg tables or calculators valie
of (i) tan 20, (ii) tan 36 (iii) tan - 9 For this paxtlcular value of 8, verlfy that '

2tan 1o

Sme:m;’-%_e' (N78/Pl/16) i

3, The equation of a curve is given, in terms of a parameter 0, by x = cos 8 + sin 8, y = cos 0 +
2 sin 6. Express sin 6 and cos 6 in terms of x and y-and hence obtain the cartesian equation of
the curve. (J79/P1/14b) N .
By squaring sin> 4 + cos® 4, or otherwise, show that sin* 4 + cos* 4 = %' (3 + cos 4A).
(J79/P1/15a) - ,

* Given that sin (x +6) = 2 cos (x — 0), express tan x in terms of sin 6 and cos 0. (J79/P2/ 12a)

+ Prove that the maximum value of 6 sin x + 8 cos x is 10. (N79/P1/ 14a)
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3 . A curve is defined parametrically by x = 3 sin ¢, y = cos 2¢. Find the cartesian equation of the
curve. (N79/P2/12b) : :
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. Prove that (i) 2 sin (4 + 45°) cos (4 + 45°) = cos 24. (ii) 2 cos (B + 45°) cos (B-45°% =
cos 2B. (N79/P2/14a)
(2) Given that tan 24 =1 and that 4 is acute show, without using tables or calculato‘rs, that
tanAd = ﬁ - 1.
(b) Given that sin 8 = s, and 9 is acute, express in terms of s, (i) cos 2B, (ii) sin 2B
(iii) tan 2B. (J 80/P2/ 14)

to. (8 Giventhatcosd=73 ﬁnd w1thout using tables or calculators the value of (1) cos 24,

(ii) cos 44.
(b) Iftan B =3 tan C prove that tan (B - C) = 7522, (N80/P2/_14)
\"w, -(a) A, B, C are the angles of a triangle such that cos 4 = 3 and cos B = Without using

tables or a calculator find the value of (i) tan 24, (u) cos (4 + B), (111) cos C.

(b) Prove the identity j“;ﬁjw =tan 8. (J81/P1/14)

\,  Find the value of x between 0° and 360° for whlch (cosx — sin x) has a maximum value.
(181/p1/15b)

(. (@ Given that sin A= L;—— and that A4 is’ obtuse find, without using tables or calculators,

the value of (i) cos 24, (ii) sin 24, (iii) sin 44. Answers may be left in surd form.
(b) Prove the identity tan (4 + 45°) + tan (4 — 45°) =2 tan 24. (N81/P1/14)
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